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Q1. Consider the following statements regarding the TB mukth
bharat abhiyaan :
1) Tubericlousis is a non-communicable caused by

Mycobacterium Tuberculosis.

2) India had set a target of eliminating tuberculosis by 2030.
3) Ni-Akshay Mitra Initiative is to support the TB patient.
‘Which of the statements given above is/are incorrect?
(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d)1,2and 3

Q 2. Consider the following statements regarding the Poverty and

Shared Prosperity in 2022 :

1) The report was released by the UNDP.

2) Party direction was higher in rural India When compared to
urban India.

3) Reduction in the poverty levels is slowing down due to
COVID -19 pandemic.

‘Which of the statements given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2and 3

Q 3. Consider the following statements regarding the Draft coal

logistics policy2022:

1) It was brought by the Ministry of Commerce and Industry

2) One of the aims of the policy is to Create infrastructure for
the transportation of coal.

3) This policy would help in making Electricity accessible to
all.

‘Which of the statements given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2and 3

Q4. Consider the following statements regarding the Digital

Banking units:

1) Digital banking units are set up by the scheduled
commercial bank.

2) Digital Banking Units will provide banking services
including cash deposits & withdrawals.

3) Digital banking units are licensed under the Banking
Regulation Act of 1949

‘Which of the statements given above is/are correct?

(a) 1 and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d) 1,2 and 3

Q5. Consider the following statements regarding the Open Network
for Digital Commerce (ONDC):
1) ONDC is a freely accessible government-backed platform
that aims to democratise e-commerce.
2) Niti Aayog implements the open network for digital

commerce.

3) ONDC Would reduce the Monopoly of e-Commerce
Companies.

Which of the statements given above is/are correct?

(a) 1 and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d)1,2and 3

Q6. Consider the following statements regarding the NCRB Report

2021 :

1) Crime against women is decreasing since 2021.

2) Report is released by the Ministry of Social Justice.

3) profession wise suicides among daily wage wrokers are
highest.

4) Uttar Pradesh topped the country with highest number of
suicides.

Which of the statements given above is/are incorrect?

(a) 1,2 and 3 only (b) 1,2 and 4 only

(©) 1, 3 and 4 only (d) All of the above.
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Ot g YR SIf g™ & Feiy 7 mfafad sy = ffaR &

1) dUfien ATSRIGEIRTH STERGANRT h BRI §iH ATl Ueh IR
Tart AT 2

2) 9Rd 7 2030 deh dufeeh Tt WcH e T @187 T ATI

3) fA-srer AT uger & Wht o1 gudT A & g 81

IR T M ot F @ i 91/3 Tea &/

(a) haer 1 3R 2

(b) Thaw 2 3R 3

(c) haar 1 3R 3

(d)y1,23R3

2022 # Tl R a1en Tfg & deiy A Afafed sl R AR
&

1) RatE UNDP grT SRY &t 18 ot

2) BT IR I AT | TIIOT YR F ure i fam sifde oft
3) Fifds-19 AEHRY & HRUT TR & TR § el <fieft gt @ &1
IR T U Yt F T i 91/3 9l g/8?

(a) haer 1 3R 2

(b) Faer 2 3R 3

(c) Shaet 1 3R 3

(d) 1,233

T g S Hifd 2022 & ey § fAefafad syl w® far

&

1) 39 anforey 3R I HATerd ZRT AT T AT

2) fI 1 g I2T et & uRagd & oy gt o IR
HET I

3) gg A Foft & forg g gerw a9 7 Age &t

IR U U oAl & @ i a1/ Tl 8/8?
(a) Thaer 1 3R 2 (b) Faer 2 3R 3
(c) haer 1 3R 3 (d) 1,233

fefSieat kT serreal & gey # R=fafad sy ) RER &

1) fefSiea s geprsat srggfea anfoifsdies s grT wfud <t
ST &l

2) fefSicer afchT serreal Fee ST ok el wfea dfehr g
e il

3) fefSieet S gerrsatl @t 1949 & afth e sifafes &
ded TSEYy Ut &

IR U U pyl A @ e 91/d get &/8?

(a) thaar 13k 2

(b) Shaer 2 3R 3

(c) Shaer 1 3R 3

(d) 1,233

3N Aeash BR 3fSed s (ONDC) & dey § fF=fafea

FHY R foaR &

1) ONDC T @dd ¥U ¥ gay @R gaelq @9 ¢ g
I8 S-hITY T SAlcha31ehRUT TheT B

2) fY s fEftee simsd & forg et Aeadh ot ] T 8l

3) ONDC 3-sad hufal & THIAhR i & BT

IR U g put & @ i a1/ Tgl &/8?
(@) ThaeT 1 3R 2 (b) Shaet 2 3R 3
(c) dhaeT 1 3R 3 (d) 1,233

NCRB Rulé 2021 & deiy § fA=fafea el R far &3

1) 2021 3 nfgemsi & f&emh rR1e w7 81 3@ §1

2) IS =g HaTerd gRT R SR &t ST &1

3) URER THETSH # RRETe! Aoigyl i dwear ged 3fde gl
4) gEY ST THEAT & AT & IR U 37 § 998 SR &

IR U U e & @ A a1/d TeId &/8?
(@) dhaer 1,2 3k 3 (b) Thaet 1,2 3R 4
(c)Faet 1,3 3R 4 (d) IwRie Taft
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Q7.

Q8.

Q9.

Ql0.

Q11.

QI2.

Consider the following statements regarding the New Naval
Ensign:

1) Indian Naval Ensign is changed only once.

2) Saint George’s cross is added to the new ensign.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) 1 and 2 only

(d) Neither 1 nor 2

Consider the following statements regarding the FATF :
1) Itis established by G20.

2) India is a member of FATF.

3) FATF secretariat is located in Paris.

4) Pakistan is in Greylist designated by FATF.

‘Which of the statements given above is/are correct?

(a) 1,2 and 3 only

(b) 2,3 and 4 only

(c) 1,3 and 4 only

(d) 1,2,3and 4

Consider the following statements regarding the Defence Expo
2022:

1) Itis the 11th edition of the expo held in Lucknow.

2) It is a biennial event organised by the Ministry of Defence
Which of the statements given above is/are correct?

()1 only

(b) 2 only

(c) 1 and 2 only

(d) None

This operation is being carried out following the inputs of
Intelligence from Interpol’ It is a Pan India drive against the
circulation and sharing of child sexual abuse material
conducted by CBI. Which of the following operations are
described above?

(a) Operation Meghadoot

(b) Operation Carbon

(c) Operation Megha Chakra.

(d) Operation Ganga

Which of the following statements about the arrival of the

Portuguese in India is/are correct?

1. The Portuguese were the first Europeans to enter and the last
to depart India.

2. The Portuguese introduced the cultivation of tobacco to
India.

3. In May 1498, Vasco da Gama undertook the first Portuguese
expedition to Calicut through the Cape of Good Hope.

4. Afonso de Albuquerque was the first Portuguese governor in
India, and he seized Goa from the king of Bijapur. Goa
thereafter became the capital of the Portuguese colonies in
India.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 and 3 only

(¢) 1, 2 and 4 only

(d) 1, 2 and 3 only

‘Which of the following statements is/are correct about the arrival

of the Dutch in India?

1. In 1602, the Dutch East India Company was founded under
the name Vereenigde Oost Indische Compagnie (VOC).

2. Dutch established their first factory at Masulipatnam in
Andhra.

3. The Dutch gradually lost their colonies to the French, and in
around 1759, they were defeated by the English at the Battle
of Bedara.

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

Q13.

Ql4.

(d)1,2and 3

With reference to Indian history, which of the following is/are

correct regarding the arrival the of French in India?

1. The French were the last European companies to enter India.

2. Frangois Caron established the very first French factory in
India in Surat in 1667.

3. The French constructed a trading post in Chandranagar at the
location given by Shaist Khan, the Nawab of Bengal.

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Who was/were instrumental in obtaining concessions for trade
in India from Mughal emperors?

1. William Hawkins

2. William Finch

3. Sir Tomas Roe

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Q15. Which of the following statements is/are correct about Bengal in

Ql6.

Q17.

the 17-18th century?

1. Bengal was the most fertile and prosperous region of the
Mughal Empire, including the modern-day states of Bihar,
and Odisha.

2. Bengal's exports to Europe included saltpetre, gold jewellery,
indigo, pepper, corn, silk, cotton fabrics, and other items.

3. The annual value of East India Company's exports from
Bengal exceeded £ 50,000.

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d)1,2and 3

Consider the following statements:

1. The company received permission from the King of
Chandragiri in 1639 to build a factory close to Madras, where
the British had built Fort St. George.

2. In a cramped cell in Calcutta, Mir Jafar imprisoned 146
British captives, 123 of whom perished from asphyxia. It has
the notorious moniker "Black Hole of Calcutta."

Which of the statements given above is/are incorrect?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

With reference to the Battle of Plassey, consider the following

statements:

1. The Battle is considered a historical turning point for the
British in India since it consolidated their political and
military dominance in Bengal.

2. Clive declared Mir Qasim the Nawab of Bengal and installed
him on the throne of Murshidabad after the Battle of Plassey.

‘Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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10.

1.

12.

U AT e & Gay § fAEfaf@a wul R far o
1) IR T8 T €T had Teh IR I&T ST &
2) e STt ol h1g AU &aT | SiieT T &

IR U U puAl & @ i a1/ Tdl 8/8?
(a) haet 1 (b) heret 2
(c) haer 1 3R 2 (d)Tat1sikas2

FATF & Tee # fRafaf@d s « faam e
1) I8 G20 gRT =nfud faar mar &1

2) 9Rd FATF ol 92w g1

3) FATF &1 gftarea oRg & fRa g1

4) urfehea™ FATF gRT T1fad dfee & 81
IR u mu puet A T i 91/a 9l &/87?
(a) haet 1,2 3R 3

(b) haret 2,3 3R 4

() Faet 1,3 3R 4

(d)1,2,33R4

f3thg vagmt 2022 & Iy # Fmfafad s «= TR &
1) T8 @ A SMAfSid Taaat T 1147 T&heor &
2) Tg &I BT gIRT AT Ueh fgarftes sarederm &

IR U U peAl | @ i a1/9 IEl 8/8?
(a) e 1 (b) Faet 2
(c) FaeT 1 3R 2 (d) &IE &

g TR Feruler A Githar STHaRY & 18 fhan 511 @181 98
CBI ZRT IS arer @i wor Irft & Serer ofiR "SR or
& faeTw Ter ol R sif = g1 FefefR@a d @ g @
TR FuR afofd &2
(a) SR Fugd

() SITURRM THT Teh

(b) SITORRM ehreT
(d) SITURRE T

RA B YAMIierd & ST & IR A FEfafed 8§ 8 a9 91/3 &y

el 8/8?

1. GelTTelt YIRA H UaeT A ATl Uget U & SR R 9 S aret
sifam

2. gamferat 3 MR H qie i Dt Y= hl

3. #E 1498 H, et 31 AT A U Tt S gIY o HIeaH 4 Hiciiche
H ugelT Yeirrett SR g |

4. IR Sl 3Tegcheh HRA H Ugel GelTTe! gk &, 3R 3614 ofiSirgR
& ST Y e i STed o folam 971 38 a6 a1 WRa # Yeedt
IUTAALT eht TSTETT & T

12 g 7T e o1 AT R el IR gA:

(a) Fae 1

(b) 2 3R 3 Saet

(c) Fae 1,2 3R 4

(d) aet 1,2 3R 3

IRd § =41 & M & IR § FEfaf@d § @ o a1/3 wuw 98t

8/8?

1. 1602 ¥, 59 3% 3fear dhunt 6l wiuAr 3RS o e
HIERAT (VOC) & 19 & i 718 ot

2. SO A AUAT UgAT HREFT HIY U & AYeiiugad d wiifud
forami

3. =9 3 fR-¢fR orum SufEe &t it & gt @t R, efk
T 1759 F, & 931 I 118 | St § gR Y|

2 g 7T e o1 T R el IR gF:

(a) 1 3R 2 thaat

(b) 2 3R 3 thaat

(c) aar 18R 3

(d)y1,23R3

13.

14.

15.

16.

17.

IR sfae & g=<ef & fefefee 4 9 a9-ar/8 ara &

it & ST & dey § gl §/8?

1. Rl TR & vaRr e areft sifa gt shufaat off |

2. T & 7 1667 § TRA # WRA § Ugell Wit thadl
AT Fi|

3. iRl 3 e & Tare e @ gRT T Y 'IM R IgR
7 Ueh aaTien teht et fRefor fha

12 g 7T e o1 T R Tl IR A

(a) 1 3R 2 dhaa

(b) 2 3R 3 Thaat

(c) aar 13k 3

(d)1,23k3

el JTGRAE! & R # AR & g Rarrd v & | S dgras
ar/e?

1. faferw gifeewr

2. fafemm fhar

3. WA

12 g 7T e o1 T R Tl IR A

(@) 1 3R 2 dhaat

(b) 2 3R 3 thaat

(c) haet 1 3R 3

(d) 1,233

17-18f Tt & d7er & R § F=fafaa & @ o 91/ wue T8t

8/8?

1. S P ST T GEE IUSS R Tg & o, o
yfes fIR SR sfifsem s off anfie 2

2. QU # &M o At # R, G & smepmu, i, Sl B3,
HenT, 9, it shus SR 3 aegy e of |

3. e @ S 2 Gut & Fafa @ arffe g £ 50,000 &
3iferen gt |

2 g 71U e o1 v AR Tl IR gA:

(a) 1 3R 2 Saet

(b) et 1 3R 3

(c) 2 3R 3 et

(d)1,2 3R 3

fAefafea s R AR &R

1. Ut &l 1639 § AR & IS T A & UTT Yeh hREMT I
& At fAreh, STgt SFST A T de Sifst et fAmfoT foRa i

2. oAl & Yeh o hioel H, HIR ST 3 146 fafesr skl ot &
F forar, =9 & 123 Jrame’ty 8 AR Y1 S8R AT IuAH
"heTchT Shl soich Bl Bl
IR U U pul | @ piF 91/ erd 2/7?

(a) Thaat 1

(b) Thaet 2

(c) 1 3R 2 @At

(dysat13iRaE2

T & g & e 7 Amfafad el w foar fife:

1. IS & YRA # Sl & forg gen g #ig A7 T ST @
Rifeh S ST H I7ch ToTifareh 3R 8= U eht Aot fha|

2. I & gg & 1< FA1ga A HR H1fH Y &t 1 Tare wiftd
F ffeferare Sl T R S

IR U U ol & @ i 91/ 9l &/8?

(a) Shad 1

(b) Shaat 2

(c) 18R 2t

(dyFat1siRad2
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QI8.

Q19.

Q20.

Q21.

Q22.

Q23.

Which of the following statements is/are correct about the Treaty

of Allahabad,1765?

1. The East India Company was awarded the Diwani of Bengal,
Bihar, and Orissa in exchange for an annual payment of Rs
52 crore.

2. The Company demanded that Shuja-Ud-Daulah pay Rs 26
lakh as a war indemnity.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which treaty granted the British, Nizam, and Marathas control
over roughly half of Mysorean territory, while Baramahal,
Dindigul, and Malabar went to the British, the Marathas received
the regions around the Tungabhadra and its tributaries, and the
Nizam gained the areas from Krishna to beyond the Pennar?

(a) Treaty of Bassein

(b) Treaty of Mangalore

(c) Treaty of Seringapatam

(d) Treaty of Madras

Which of the following statements concerning Anglo-Burmese

relationships during India's colonial period is/are correct?

1. Throughout the First Burmese War (1824-26), British forces
seized Rangoon. In 1826 through the Treaty of Yandabo,
peace was restored.

2. In 1885, Lytton ordered the invasion and annexation of upper
Burma, popularly known as the Third Burma War.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

With reference to the subsidiary alliance system, consider the

following statements:

1. It aims to bring the Indian Princely States under British rule.

2. It helped in the expansion of the company’s territories in
India.

3. Lord Wellesley’s subsidiary system was considered to be of
defensive nature, while Warren Hastings’s system was based
on offensive instruments.

‘Which of the Statements given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and 3

Consider the following statements regarding the Doctrine of

Lapse:

1. It was applicable to all subordinate and non-subordinate
Indian states.

2. It provided that the adopted son could not have the right over
private property as well as the royal throne.

3. This concept was first invented by the Court of Directors.

4. Satara, Udaipur and Nagpur are the major states annexed by
the application of the Doctrine of Lapse.

‘Which of the Statements given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 3 and 4 only

(d) 1 and 4 only

Consider the following statements regarding the Policy of Proud

Reserve:

1. It was introduced by Lord Lytton.

2. It aimed to take maximum control of the publication of News
Paper.

3. Itresulted in tense relations with Afghanistan.

‘Which of the Statements given above is/are correct?

(a) 1 only

(b) 2 and 3 only
(c) 1 and 3 only
(d1,2and 3

Q24. With reference to the Sanyasi revolt, Consider the following

Q25.

Q26.

Q27.

Q28.

Q29.

statements:
1. They were religious monks, who used to travel from one place

to another.

2. They revolted against the policy of imposing a tax on religious
institutions.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements, with reference to the Fakir

uprising:

1. It was invoked against the British because Fakir’s entry into
the Bengal was banned.

2. Rajputs and Pathans supported it.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

With reference to the British agrarian policies, consider the

following statements:

1. Land became a marketable commodity.

2. Exorbitant demand for revenue drove peasants into the
clutches of moneylenders and traders.

Which of the statements above is/are the impact of British

policies?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

The term ‘Diku’ was used by the Santhal people in regard to
(a) Religious Teachers

(b) Peasants practising Shifting cultivation

(c) Persons who lead their revolt

(d) Outsiders

Consider the following statements regarding the Khasi uprising:
1. It was against the British due to the harsh taxation policy.

2. Tt was held after the 1857 revolt in the Karnataka region.
Which of the following statements is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

‘Which among the following State’s armies joined the rebellions
in the Revolt of 18577

1. Bengal

2. Madras

3. Awadh

Select the correct answer using the code given below.

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 only

(d) 3 only
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18.

19.

20.

21.

22.

23.

IATRIETE ht TfY, 1765 & IR § fAfaf@d & @ &= a1/ oy gt

8/8?

1. 3% 3fan huft Bt 52 Rig T & itk ST & gt A &I,
foER ofik I dit fart & gwTfad o mar am

2. & A A <Rl R SoTT-Ia-Eiel g, &fayfd & ®u d 26 ora Tud
T A R

12 g 7T e o T R el IR gF:

(a) Shaet 1

(b) haet 2

(c) 1 3R 2 @t

(dyar13RTE2

foher TfY 3 S, eI ofk RTaT Rt et o At 8 o s
UeH fohat, Safes aRmEd, fEENe ofk AR ST & uTe = 71g,
AT 3 e @ &5 ot v foRaT GER @ om?

(a) i <1 &fY

(b) FTAR &Y Gl

(c) sfTueH i &Y

(d) wer & |

YR & ufAafes et & SR 31ivet sHf Geie} & IR § fFfafea

T T &9 T1/3 hyd 98 &/8?

1. " 9 gg (1824-26) & R, faifesr @71 3 I R wheett
forar| 1826 # afsTalt i Hfer & ATed | <Aifd 8T g3

2. 1885 ¥, fores % Sut sHf R emshAvT 3R fAera @ amear o,
S8 AR 9t gg & =9 H SI1 51T 8|

2 g 7T e o1 T R el IR gA:

(a) haet 1

(b) et 2

(c) 1 3R 2 gt

(dysat1aiRTE2

g IfY gurett & T # fAfafEa sl w AR Hifs:

1. SThT LT URAIT Raradt o fafesr ama & sefir @ 81

2. 3T 9RA H shut & 851 & foar & meg &

3. IS Aol dhl TG UMl &TTcHeh Uepfd hl AT STt <,
Stafeh R afedva i Tt smehme At oR snaRa ot

IR Ry T4 Tyl § € aH-a1/8 98 &/8?

(a) haer 1 3R 2

(b) haet 2 3R 3

(c) haat 3

(d)1,23MRR3

qWTd ol [RAgid & a9 7 Rmfafed syl o R &

1. g gt srefier iR MR- srefimer R Tt R ARy A

2. T QA o it duft & ary-ar gt g R Rt sfdaR
Gehd AT

3. ST IYIYRUT ohl ATAISHR TG Uge! chic 3N SR gRT forar
TR AT

4, HIARI, ISAYR 3R ANTYR AW & fHgid el 1] e aret T
I5g gl

IR Ry TG Tyt § § aH-a1/8 98 &/8?

(a) Faar 1 3R 2

(b) Shaet 2 3R 3

(c) dhaat 3 3R 4

(d) Shaer 1 3R 4

urss Rord it Aifa & dder & fRefaf@a syl wR R &2
1. U [T TS fore 3 & ot
2. SThI 32T AR U & UehIM TR 3ifdrepds fAd=ror wg=r ol

24.

25.

26.

27.

28.

29.

3. 3HH! URUIM SR & |1y J-raqut deet & gar|
IWR 2y 17 syl & @ w-T1/9 T8 8/8?

(a) Shaet 1

(b) Shaet 2 3R 3

(c) daet 1 3R 3

(d)1,23R3

g fAgig & 9eof # Fmfafea sl R AR fifSs:

1. 3 yififer =it &, STt Uoh I ¥ gER I W YH0T fhar s
Bl

2. I urfHier JaTel TR &R &= chl i opr faRier famam|

IR T U pui A @ i a1/a g &/8?

(a) Shaet 1

(b) Fae 2

(c) 1 3Rk 2 @t

(dysTat13RAE2

TR fagig & deuf # fmfafad sy R faaR &2

1. ST TG IS & e fohar mar o7 ifes srer H thehR &
TaRr R ufaser o far mar o

2. JSTYdl 3R USHI = 38et T fha

IR T MU et A @ i 91/d g8t &/8?

(a) Thaa 1

(b) haet 2

(c) 1 3R 2 @t

(dysat1aiRTE2

fafesr ity fifaat & def 7 Ffefad wu «R AR fifer:

1. fA Uk fquoe ahg a5g a9 TS|

2. oTeq i Srcafdies 7w A fhart et Argenrt 3R aaraTRat & e
o thar feam

IWRIe hAl | O pi-a1/F fafesr Aot o gama &/8?2

(a) Thaet 1

(b) haat 2

(c) 1 3R 2 gt

(dysat13RAE2

AT RN GRT 'EYep’ TS& T TANT fohwich Teie & feRaT Sirar o
(a) ufies fAerm

(b) RIFIART Gt e Tt foha

(c) & @ ST 37U fAgis T g v &

(d) sTgd T

Trdt fagte & dey & Refafad sl R iR &2

1. TR HAYM i & RO TE IS o A2 AT

2. Tg sieeh & | 1857 & fagig & g smaifSia foram war am
fAafeafea & @ & 91/9 s T8t 8/8?

(a) Thaat 1

(b) Fhae 2

(c) 1 3R 2t

(dyssat1eiRag2

1857 & fagig & Pwfafaa 3 9 fhw Tsu & I fagifeat & enfae
gs?

1. S
3. Ay
2 g 1Y e o1 v AR Tl IR g
(a) Shaet 1 3R 2

(b) Shaet 1 3R 3

(c) haet 2

(d) Shaet 3

2. 7qa ™

LML JMARDHYAM 108

CALL: 0522-4623578
9911999187

www.maadhyamias.in
Lucknow Center - B-1/18, Sector-H, Puraniya Chauraha,
Near Mahalaxmi Sweets, Aliganj, Lucknow-06024 (U.P.)

Full-Length Test | 7



Q30.

Q31.

Q32.

Which of the following was/were the causes of the Revolt of

18577

1. Fear of gradual conversion of religious Army personnel into
Christianity.

2. Introduction of new agrarian policies.

3. Overseas operations of the Army.

Select the correct answer using the code given below.

(a) 1 and 2 only

(b) 2 and 3 only

(c) 3 only

(d1,2and 3

Consider the following Statements with respect to ecology:

1. Ecology is the science that deals with the relationships
between living organisms with their physical environment
and with each other.

2. The term 'ecology' was coined by Ernest Haeckel in 1866.

Which of the above statements is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) None of the above

Consider the following Statements:

1. Keystone Species is a species which represents an
environmental cause such as an ecosystem in need of
conservation.

2. Flagship species is a species whose addition or loss from an
ecosystem leads to major changes in the occurrence of at least
one other species.

Which of the above statements is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) None of the above

Q33. Which of the following species are abundant in the ecotone?

Q34.

Q35.

Q36.

(a) Rare species
(b) Edge species
(c) Endemic species
(d) Keystone species

Consider the following Statements:

1. The temperate deciduous forest biome has the largest
biodiversity.

2. The Mediterranean type of biome is entirely confined to the
western portion of continental masses.

3. The Mediterranean type of climate is found in Chile.

Which of the above statements is/ are Correct?

(a) 1 and 2 Only

(b) 2 and 3 Only

(c) 1 and 3 Only

(d)1,2and 3

Which of the Biomes have the following type of climatic
conditions?

1. Rainfall is evenly distributed i.e around 75-150 cm of rainfall.
2. The average temperature is 20 to 30 degrees.

Choose the correct option from the below :

(a) Tropical deciduous forest

(b) Boreal forest biome

(c) Temperate forest biome

(d) Tropical rainforest biome

Consider the following Statements:

1. The ecological pyramid is the graphical representation of
different species at different trophic levels.

2. The Pyramid of energy is upright only.

‘Which of the above statements is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) None of the above

Q37. Consider the following Statements with respect to the food chain:

Q38.

Q39.

Q40.

Q41.

1. Interrelation between different food chains forms a food web.

2. In the food chain, the energy level increases from a lower
trophic level to a higher trophic level.

Which of the above statements is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) None of the above

Consider the following Statements:

1. Bioaccumulation occurs when an organism absorbs a
substance at a rate faster than that at which the substance is
lost or eliminated by catabolism.

2. Algal bloom and wetland acidification are one of the causes
of bioaccumulation.

Which of the above statements is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) None of the above

Consider the following Statements :

1. Biomagnification is caused mainly by anthropogenic causes
only.

2. The effects of biomagnification on marine ecosystems are not
more serious compared to terrestrial ecosystems.

Which of the above statements is/ are Incorrect?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) None of the above

Consider the following Statements:

1. Amensalism is a relationship between members of two
species in which one derives food or other benefits from the
other without harming or benefiting the latter.

2. Mutualism is a relationship in which both species benefit
from one another.

3. Communalism is a negative relationship between two species
in which one species harms or restricts the presence of the
other species without being negatively affected or injured.

4. Parasitism is a negative relationship where the parasite is an
active one and the host is a passive one.

Which of the above statements is/are Correct?

(a) 1 and 2

(b) 2and 3

(c) 3and 4

(d)2and 4

As per the India State of Forest Report 2021 which of the

following statements is/are correct?

1. Madhya Pradesh has the largest forest area cover in the
country.

2. Increase in forest cover is highest in Telangana.

3. Increase in Mangrove cover is highest in West Bengal.

4. 17 states/UTs consist above 33 per cent of the geographical
area under forest cover.

Select the correct answer using the code given below :

(a) 1 and 2 only

(b) 1, 3 and 4 only

(c) 2 and 3 only

(d) 1 and 4 only
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30.

31.

32.

33.

34.

35.

36.

fAmfafea & @ @9 @1/@ 1857 & fglg & @Rt 9/4?

1. enfifer @7 & STar & ofR-oR g eonf § uRafda R e =R
2. 7% Y fifaat @ aR=a)

3. A1 & faesft siforme)

12 g 7T e o1 T AR Tl IR gFTI
(a) haer 1 3R 2 (b) et 2 3R 3
(c) ehaet 3 d)1,23R3

TR & ddy § F=fafea sy = faR &

1. uRfRfaH ag ffmm & st shfaa shal & g 39F s
JIATEROT 3R e GER & A1y Feelf & Gaifdd 81

2. 'uRfAEY st 1866 F 3 gohet gRT TaT 71T AT

IR & T i I1/9 o Igt &/8?

(a) Shaet 1

(b) et 2

(c) 1 3R 2 @t

(d) 378 @ S off

fA=fafea Foei R AR &R

1. SIS ueifa Ueh Ot gonfa & ST TR&10T i SMasTehdr ared
giRfEfadht 35 I8 gafarofig wror a1 ufaffda @t g

2. TNTRIY TSt Geh Ot oaifal & forereh ges uiRfRfadhl o & speat
T T g 9 A T T Yeh 31 USTId chl He-T & 92 Ieo1d ald
gl

SR & @ & 91/ Ty 98t 8/8?

(a) haet 1

(b) dharet 2

(c) 18R 2 &Mt

(d) 378 @ I3 oft 78

ffafad 7 @ o9 @ genfa sl & R A1 H 82
(a) get™T TeTfa

(b) TSt g

(c) wnfep oot

(d) Tt I S

fAefafaa wut R AR &9

1. goiiater gofurdt a7 sy & ga2 51 Sa fafdear g1

2. JAEHTRI UehR <l ST X o 9 Helg U Sead = & aiget
O deh 8! AT 81

3. et # ymenarRy Serarg uTg St 81

SR & ¥ I T1/9 Y- 9al 8/8?

(a) 1 3R 2 thaet

(b) 2 3R 3 Thaat

(c) 1 3R 3 Fhaat

(dy1,2eR3

fora araw & A gaR & Saarg aRfRAfGaT 82
1. auf g ¥ @ fAaRa &t s § srufa erert 75-150 Jft auf
2. 3fgd amuE 20 @ 30 3k g1
i fou 71t faereat & T 98t fAaey o1 9= FifSig
(a) Iwrehfesefty guigrd} o=
(b) STt o= sTag
(c) guftaisT o= sre
(d) Iwrehfeseft aufas smaiw

ffafed sl R AR &

1. uRfRfds frifie T divor «f W Rifvs gefadt &
g gfafafea 81

2. &t ot forifAe e & gtar g1

Wi H § i 91/3 Y Fel /87

37.

38.

39.

40.

41.

(@) Fae 1
(©) 1 3k 2 =t

(b) a2
(d) 378 G 13 oft Tt

Qe Y@ & Gey A =fafed du ) e

1. o= @ st & ffT RER d6Y g @ S S [
A8l

2. ETE Y@ H, ol wR = ool &R 9 3= Uit TR 9 a1 8|

IWRIad & T i 1/ hy 981 §/87?

(a) Shaet 1

(b) Fhaet 2

(c) 1 3R 2 @t

(d) 713 @ 1S oft 7

f=fafead v R AR &

1. g GO d gidT & 5 ahls Sfig fohd) ueref &t 39 &= ¥ 3ifde
ot @ SNy w=ar & 9 wR ueref sru=g gRr @t Sirar & ar
THT gl STt 8

2. a7 UEpe SR STEfH Srcfen)ur Sig Faa & RUTT A I Ueh
gl

IR A T i 1/ hu 9g) /87

(a) haat 1

(b) Shaet 2

(c) 1 3R 2 At

(d) 378 @ IS oft &t

fF=fafed wua R AR &

1. 9 MadE g &0 ¥ AFasi-d dRUT 9 & g1 8|

2. ¥y uRfRfde 0 & goa-n § Tt uRfRAfds & ) Sa
Y & g9 3ifde TR T8

IR & 9 ahl I1/F U= Toid 8/8?

(a) Thaa 1 (b) dhaa 2

(c) 1 8fR 2 &Mt (d) 3778 T opis oft 7Y

f=fafaa fu = AR &

1. GHdferoH & UeTiadl o el & o9 Gen ey 8 foraH an gair
ot foFT JerdT™ UG AT 1Y UGETY gER & IS a1 31T &
T ST 81

2. URWRGdT U U1 969 g S99 aF yenfaal g gaR @
A= gidt &l

3. pugfereH(ggwifsiarn &t usnfaal & g T RIS Jeg §
S e usfa FehrIcess &u & gwifaa ar arge gu fomr gadt
gSTfad ehl IURRA et JereT gt & ar ufdefad st g1

4. URSHIAr Ueh AhRIHS Ta9 g Sigh UReiidt U qfehd § iR
Aot Tes fAfsha g1

IR & ¥ & I1/ Sy 9l 8/8?

(a) 13k 2

(b)2 3k 3

(c) 33k4

(dy2 3k 4

YR g RUtE 2021 & R FefafEa & 9 &9 91/8 &3 gt

8/e?

1. T U3 H < T 99 F1 I 87 8

2. AT H gTerer # Hed 3ifee g gs ol

3. #ula smeror 7 gfg ufgw e & ged 31fden 8l

4. 17 Tsui /e fAd v & o= S1eruT & dgd fimfeies & &1 33
gfasrd & sifdes B g1

2 g 71T e o1 v R el IR AY
(@) Shaet 1 3R 2 (b) FasT 1,3 3R 4
(c) haer 2 3R 3 (d) FaeT 1 3R 4
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Q42.

Q43.

Q44.

Q45.

Q46.

Q47.

With reference to Coral bleaching, consider the following

statements:

1. It occurs if corals come in contact with sunlight.

2. It occurs in both very high temperatures as well as at very low
temperatures.

3. It occurs in salt water, corals need fresh water to service.

‘Which of the Statements given above is/are correct?

(a) 1 and 2 only

(b) 2 only

(c) 2 and 3 only

(d1,2and 3

Which of the following statements is/are correct regarding the

National Clean Air Programme (NCAP)?

1. It is a national-level strategy to reduce air pollution levels
across the country.

2. It consists of city-specific plans to improve air quality.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements regarding the National Air

Quality Index (AQI):

1. It was launched recently by the Central Pollution Control
Board.

2. It has been classified into six categories as per the severity of
air pollution.

3. It considers a total of eight pollutants.

Which of the Statements given above is/are correct?

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and 3

Which among the following statements is/are correct regarding

the Biological Oxygen Demand (BOD)?

1. Itis the amount of oxygen required to consume both organic
and inorganic waste.

2. Highly polluted water results lower demand for Biological
Oxygen.

3. It depends upon the Ph and temperature of the water body.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and 3

With reference to the E-Waste (Management) Rules, 2022,

consider the following statements:

1. These rules have replaced the E-waste (Management) Rules,
2011.

2. These rules are provided for the management of Solar
modules and panels.

3. These rules contain the provision of generation and
transaction of Extended Producer Responsibility (EPR)
Certificate.

‘Which of the Statements given above is/are NOT correct?

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and3

Which of the following statements is/are correct regarding

bioremediation?

1. It is the accumulation of a chemical by an organism from
water and food.

2. It helps in cleaning the environment.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

Q48.

Q49.

Q50.

Q51.

Q52.

Q53.

(c) Both 1 and 2
(d) Neither 1 nor 2

With reference to the acid rain, consider the following
statements:

1. Acidity of the rain rises if rain falls through polluted air.

2. It occurs due to exposure to ozone gas in the environment.
Which of the Statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following option is NOT correct regarding
Renewable Energy Resources?

(a) This is very cheap in nature.

(b) The energy can be used again and again.

(c) These promote a healthy balance in nature.

(d) This is present in the underground layer of the earth

Which of the following statements is/are correct regarding Non-
renewable Energy Resources?

1. These generally take hundreds of millions of years to form.
2. These resources are not pollution-free type.

Select the correct answer using the code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

With reference to the Rising Sun Water Fest, consider the
following statements:

1. It was an event of water sports and cultural activity.

2. It was organized by the Ministry of Youth Affairs and Sports.
3. It aimed to promote tourism in the North East region.
Which of the Statements given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

With reference to the Naga movement, consider the following

events:

1. Imposition of the Assam Disturbed Area Act.

2. Creation of Nagaland Peace Mission.

3. Shillong Accord

4. Split in National Socialist Council of Nagaland (NSCN) into
NSCN (IM) and NSCN (K)

Which of the following is the correct chronology of the above

events?

(a) 1-2-34

(b) 2-4-3-1

(c) 3-4-2-1

(d) 2-1-34

Consider the following statements regarding Coalition for

Disaster Resilient Infrastructure:

1. United Nations and its programmes are stakeholders of this
initiative.

2. Itaims to implement the provisions of the Sendai Framework.

3. It was launched at Asian Ministerial Conference on Disaster
Risk Reduction (AMCDRR) held in 2016.

4. Policies and outputs of this initiative are binding on the
member states.

‘Which of the Statements given above is/are correct?

(a) 1 and 2 only

(b) 2, 3 and 4 only

(c) 1,2 and 3 only

(d)1,2,3and 4
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42.

43.

44,

45.

46.

Tard ke & deef # fFafafRd sl = R HifSa:

1. 9% a9 gIdT & 5Ta UaTel G o UhIT & Huh H S1d &

2. g Sgd Ak qraA™ 3R 9gd A dIaH &A1 J giaT ol

3. gg @R gl # gia1 §, TaTel aht TN & fIT TSt STel ahl STeevd
gidl 81

IR U U Al A @ ie-a1/9 Tl &/8?

(a) haa 1 3R 2

(b) haet 2

(c) haa 2 3fR 3

(d)y1,23k3

ffafed & & & a1 wy= T W arg wrishA (NCAP) & dey

dagi g/ 82

1. 9% QR H aTg UGHUT & TR ! A A h [olg Toh AT TR i
oI 81

2. 39 IRy TUET H gUR & g 2reR-fAfdre e anfa &)

12 g 7T e o T R Tl IR gF:

(a) Shaet 1

(b) haet 2

(c) 1 3R 2 @t

(dysat1aRTE2

¥ Iy TureT gaehics (AQI) & ey & FEfeifEa wem w faar
aﬂ'—.

1. 'ﬁmﬁﬂmwﬁmaﬁé(@cmmaﬁrmw
|

2. 91g uguuT & TRAT & SIER 39 B Al 7 aiffepa fopar
gl

3. g HA 376 UgHh! UR faaR T 8l

IR U U el A @ ie-a1/9 Tl &/8?

(a) et 1

(b) ShaeT 2 3R 3

(c) %hae 3

(d)1,23R3

Sifaep siferdfist 77T (BOD) & Teter & Rmafaf@a & @ & ar/d se=

gl 8/8?

1. g P 3R S Hhax Gl T IUFNT PR & foig
3MTageh SfadisT &l a8

2. AAF UG Tl & URUIAREEY Sifdeh SHiaiter chl AT A
it g1

3. gg oIt Ao & PH sk arga wR ARk sear g1
2 g 71 e o1 T R Tl IR gF

(a) Thaet 1

(b) haw 2 3R 3

(c) dhaet 3

(dy1,2eR3

- (vEeE) fAgm, 2022 & ded # fAmafafld st w AR

HIfS:

1. 39 et 3 $-oarr (weeE) Ram, 2011 @1 == o 81

2. 3 g9 AR Al 3R 991 & Ueie & forg iRy g 81

3. 3 ot 7 gedss uisEr RedifRifafed (EPR) aféfthce &
SRR 3R TiStaRM &l Y™ gl

IR Ry TG Tyt § @ i 91/8 98 98 8/82?

(a) et 1

(b) a2 3R 3

(c) dhaet 3

(d)y1,23R3

47.

48.

49,

50.

51.

52.

53.

g IR & Yoy § F=fafad d 9 = 91/8 wud a8t &/87?
1. g fordt Sha grr arh 3k i @ Uep SO &1 ST g1
2. Tg UgiaRol Hl IS § HeE el g

12 g 7T e o1 T AR Tl IR A
(a) Shae 1 (b) aeT 2
(c) 18R 2T (d)yTFar1siRag2

Irefta auf & deof & fmfafaa sy R iR HifSa:
1. I vefdd arg & auf gidl & af asf & srerar 316 St 8l
2. g arararor # NS 19 & Yueh & 3 & hIRoT i1 21

IWR 2y 717 el F @ w-a1/9 T8t 8/8?
(a) et 1 (b) Faet 2
(c) 18R 2 &t (d)yTat1Rag2

&1 Fo1l FATHAl & Gy J FEfafad § @ @ ar faeey o) 78
87

(a) T8 Uepla # Igd I&1 81

(b) 31T T TR-TR IGINT fehaT ST GehaT &1

(c) ¥ Tl H Ty T ot Sgrar & &

(d) Ig gt i T o A Hiee 8

R-TeeRoig Fett GaTeA & Jae § Fefafad 3 @ o  91/8 o
el /82

1. 38§99 § 3 IR WR HAS! 9T oTd &1

2. 3 GO UgHUT :fed UhR & 81 g &

2 g 7T e o1 T R el IR gAY
(a) el 1 (b) ereT 2
(c) 1 3R 2T (d)Tar13RRTE2

TfShT 99 arer e & T # F=fafaa sl w far fHifs:
1. g el shigl 3R Hikepfcren Tfafafdr et smater o

2. 3T SIS gaT AT 3R et HalTerd gRT fohar mar o
3. 3R 5T IR g4 &7 § g &l derar &1 8l

IR T MU HYl H @ Fi-a1/3 Tl &/8?

(a) haa 1 3R 2

(b) haw 2 3R 3

(c) thaaT 1 3R 3

(d) 1,233

anT Stigie & e A fmfafed gearsii w foar HifS:

1. 31EH LMid & s any &

2. ArTeis Srifa B @ Ao

3. fRyerT Tosiar

4. A Gifere HRfRAA i Armeis (NSCN) @1 NSCN (IM)
3R NSCN (K) & faure

f=fafad # @ o9-a1 SWad geTsll ol Tg! hicishH 8?2

(a) 1-2-3-4

(b) 2-4-3-1

(c) 3-4-2-1

(d) 2-1-3-4

IMTUET JUeSi- qTIT & [T Taded & ey & fefafea wut

R faaR &

1. Gge Y 3R IFh HRIhH 39 Ugd & fgaeRes &

2. 3HH e USTS thAddh o AU Sl AR] T 8

3. 39 2016 # ImifSid smuar Sif@A gAteRor (AMCDRR) W
ofRaTs Aieada gete & «f=a fomar mar o

4. 39 ugd o ifoat ik uRumy Tew gt & g aremer §1

IWR 3y g syl & @ w-a1/9 T8 8/8?

(a) haa 1 3R 2 (b) a1 2,3 3R 4

(c)Faet 1,2 3R 3 (d)y1,2,33k4
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Q54.

Q55.

Q56.

Q57.

Q58.

Q59.

Consider the following statements regarding Small modular

reactors (SMRs):

1. These are small reactors working on conventional
technology.

2. Their power generation capacity is lower than advanced
nuclear power reactors.

3. These can produce low-carbon electricity.

Which of the Statements given above is/are correct?

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d1,2and 3

Which among the following statements is/are correct regarding

the Criminal Procedure (Identification) Rules, 2022?

1. It empowers police officers to collect fingerprints of arrested
convicts.

2. It provisioned for the collection of biological samples even if
a person is acquitted.

3. It is provisioned for the grounds of collection of biological
samples.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

With reference to the Eastern Economic Forum, which of the

following statements is/are correct?

1. It was established by the decree of the Secretary General of
the UN General Assembly.

2. It aims to strengthen and establish ties between Global
Investment Community and Russian Federation.

3. The 8th Eastern Economic Forum 2023 will be held in
Russia.

Select the correct answer using the code given below :

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and3

Dharamshala Declaration is related to which of the following
sector?

(a) Covid Pandemic

(b) Tourism

(c) Himalayan Topography

(d) Environment Change

With reference to the INS Vikrant, which of the following

statements is/are correct?

1. It is built by Cochin Shipyard Limited in collaboration with
the Russian ship-making industry.

2. Tt is the largest ship posses by the Indian Navy.

Select the correct answer using the code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

With reference to the Montreal Protocol, which of the following

statements is/are correct?

1. It provides equal but differentiated responsibilities to both
developing and developed countries.

2. Itis binding on developed nations but not developing nations.

3. The Environment Fund managed by the UNEP is used to
finance the parties to the protocol.

Select the correct answer using the code given below :

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and 3

Q60.

Q6l.

Q62.

Q63.

Q64.

Q65.

Which of the following statements is/are correct regarding the

Denotified tribes (DNTs)?

1. These tribes fall within the category of Schedule Tribes.

2. Development and Welfare Board for De-notified, Nomadic
and Semi-Nomadic Communities (DWBDNC) is constituted
as a constitutional body for the welfare of these communities.

Select the correct answer using the code given below :

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

With reference to two new states of matter, often discussed by

scientists, consider the following statements:

1. Plasma is formed by cooling a gas of extremely low density,
about one-hundred-thousandth the density of normal air, to
super low temperatures.

2. Bose-Einstein Condensate is the state consisting of super
energetic and super excited particles. which are in the form of
ionised gases.

Which of the given statements is/are incorrect?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

With reference to the light waves, consider the following

statements.

1. Light is a type of electromagnetic wave which needs a
medium to travel.

2. Cones are sensitive to bright light and rods are sensitive to
dim light.

3. The dispersion of light is what gives the sky its blue colour.

4. In Total Internal Reflection, the light travels from a denser to
a rarer medium.

Which of the given statements is/are correct?

(a) 1 and 3 only

(b) 2 and 3 only

(c) 2 and 4 only

(d1,2,3and 4

In the context of connective tissues of animals, consider the

following statements:

1. Connective tissues are most abundant and widely distributed
in the body of complex animals.

2. They range from soft connective tissues to specialized types,
which include cartilage, bone, adipose, and blood.

Which of the statements given above is/are correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

With reference to the Human Excretory System, which of the

following statements is/are correct?

1. It comprises pair of kidneys, a lever and a urinary bladder.

2. Kidneys help in filtering metabolic waste from the blood.

3. Kidneys help in maintaining the normal composition of
blood.

Select the correct answer using the code given below :

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and 3

Consider the following statements with respect to Fast Breeder

Reactor:

1. Ttuses plutonium-239 as fuel in the second stage of the reactor

2. Water is used as a moderator in this stage.

3. Liquid sodium is used as a coolant material.

4. The first-time a fast breeder reactor is used in Tarapur,
Trombay.

Which of the above statements is/are Correct?

(@) land 3

(b) 2and 4

(c) 1and 2

(d) 3and 4
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54.

55.

56.

57.

58.

59.

B¢ Afeger Ruaext (SMRs) & dey # fm=fafad s w faar

&

1. & URUR® depiieh R T e aTet B Ruaex &l

2. Ih! faSTelt It & I9d URATY] Soif Rueest i g A
H B

3. T A Hra- arett forsTett Ger e Tehd &1

IR U U YAl A @ ie-a1/9 Tl &/8?

(a) aet 1

(b) haet 2 3R 3

(c) Shaet 3

(d) 1,233

ITuRTeR ufehar (Tgam=

1/@ U Tl 8/8?

1. g8 yfer sifdemial st iRTR St & fhRftic gand et @t
PR AT 81

2. 39¥ forelt aafaa & a8t gt 9 W oft Afde T TR A @
gy gl

3. g Sifden AT & TUE & MR o fog uraenfad g1

2 g 7T e o1 T R Tl IR gF:

(a) Shaet 1

(b) Thaw 2 3R 3

(c) haar 1 3R 3

(d) 1,233

) s, 2022 & Geg F Pafafa g d aF

udf snfdfer w9 & deof #, Fmfafad 7 @ o a1/ e 98t 8/82

1. SHh! TITYAT TG IE AT o A oh fSsh! gRT I T8
off|

2. 3T e Affer Y THer ofk =it ¥ & T dedl @t
ST heT R R0 AT B

3. 8af gdt anfefer A9 2023 ¥4 & SmifSia fohar Srgam|

2 g 777 e o1 v R el SR AT

(a) FaeT 1

(b) Thaa 2 3R 3

(c) a3

(d)y1,23R3

LRI Tivon REfafad J @ feg &5 @ gefea &2
(a) Hifds AE™RY
(b) udeq

¢) T wrepfa
(d) ggteror ulkad=

INS faeria & deof 7, fAmfafEa & @ o 1/3 = ag 8/8?

1. 38w Riuare fiftts grr =t sier Rt sair & gga
J =TT T &

2. g YR T8 &7 geY F7 ST 8

=2 g 717 e o1 T R e IR AT
(a) Fae 1 (b) e 2
(c) 1 3R 2=t (d)yTat1sikas2

Aifege Meleid & g 8§, Refifea & 9 o a1/a wu- 98t §/8?

1. ag famrafia ok fAsfAd it 2= ot g Afch sreT-3remT
SreRat ve w=ar g1

2. Ig i gl W aremenr § wfohT faanrafier 33 wR A&

3. UNEP gRT y&ifdd uafeaRor sy a1 SuaiT urféal et Hieiaid &
foaeroT & forg foman ST €1

=2 g 71 e o1 T R e IR AT
(a) had 1 (b) Shaet 2 3R 3
(c) ShaeT 3 (d) 1,233

60.

61.

62.

63.

64.

65.

R sfdgfa senfaal (DNTs) & sR & F=fafea & @ = ar/a

HYU el 8/8?

1. 3 Sofoat g ST &t goft 7 et &)

2. S 9HEE! & ShedTul & g goh HaaTen e & w0 # fare,
Gl 3R srdf-@FTEEr et & fog e ok searr
g (DWBDNC) &1 7o foram T g1

12 g 7T e o1 T AR e IR AY
(a) et 1 (b) &aet 2
c) 18R 2 g+t (d)yTFar1siRag2

ueref it &) 73 sraeaeit & deof #, 9 W dmwl gR1 s/ ==t

&$r St 8, fAafafed sl R faar

1. IAd HH I dTell A9 I, AT a1g & g9 DT THT Th
ARGET YT, AT AT ITUAE UR ST ek WITSHT ST ST
gl

2. TG-S dhede ifd Feifam R arfa AT ot & get
JERT &1 Sit S 7l & %0 | gid &

Rumuayaidd s gr/d mad e/g ?
(a) e 1 (b) et 2
(c) 18R 2 &t (d)yTFar1siRag2

TR I oh Teaf | fAfarf@d syt o faaR &3

1. URIST Ueh YR i fagga Teehia a3 & O I & forg Aremw
&I SR il B

2. fOSH gHSAER UehIRT & ufd dagaziier gia € ofik &8 He Ui &
ufa Gaeasfter gicht 81

3. U1 I Thelld 81 @ ST STTEhIRT bl =HiedT T 3T &1

4, qof 3ridRes TRTad= & UehIT Tu ATy & faver A1ens & S1am 81

foQ Tq el A & H-11/3 Wl o/8?
(@) haet 18R 3 (b) haet 2 3R 3
(c) Fawi 2 3R 4 (d) 1,2, 33R4

Sigaft & TSl Sident oh Teof 7 mfafad syl | foar fifS:

1. SIfed Sigett & RR & Halsit Sac T IR a6 7 SR amaes
&g 9 fqaRa gid &1

2. & TRH G Jden! ¥ A fAAY TR da gid ¢, e suifey,
EEl, a9 3R T A &l

IR U 74 pl & @ e g1/ 9l &/8?
(a) ehae 1 (b) &aet 2
(c) 1 3R 2 &=t (d)Ta13RRTE2

e Icqoi af & e # Amferfed & @ eH-91/8 e Iel 8/8?
1. 399 T, Ueh Tchd 3R Yeh TATRM I ST &1 &1

2. T 39 © IUTIRA SUfAE i yesford et | Aeg whed gl

3. TS I Y YIRT GRAAT i IATY 3@ H AEE e 8l

=2 g 71T e o1 v R e IR AY
(a) charet 1 (b) et 2 3R 3
(c) &haeT 3 (d)1,23R3

da geeuTees Ruaer & defy & Rmfafed sel R AR &

1. g RuaR & g =R01 A 99 & &Y H TeIHaH-239 T IuahT
HAT S

2. 3T 3[aRIT A ST bl Heeh o T9 H v fohar Siam &1

3. = gifeas o1 3w fiaeres gl & T F fohar sirar 81

4. Uge! IR Qeh YAEcUTGe dRIQR, i | T ok Sirar 81

IWRIad § T i Iq1/3 hy 98l §/87?

(a) 133

(b)2 3k 4

(c) 13R2

(dy3 sk 4
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Q66.

Q67.

Q68.

Q69.

Q70.

Q71.

With reference to Indian Brain Atlas, consider the following

statements:

1. It found that the average brain size of an Indian was smaller
in height, width and volume in comparison to people of the
Cacasian and eastern races.

2. IIIT Allahabad researchers created the first ever Indian Brain
Atlas.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements in the context of the Central

Drugs Standard Control Organization (CDSCO):

1. CDSCO is responsible for making and approval of drugs,
conducting clinical trials and laying down the standards for
drugs.

2. CDSCO along with state regulators, is jointly responsible for
the grant of licenses of certain specialized categories of critical
Drugs such as blood and blood products etc.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

With reference to the fortification of food in India, which of the

following statements is/are correct?

1. Fortification is the practice of adding Vitamins and Minerals
to commonly consumed food.

2. Fortificant means a substance added to food to provide
micronutrients which includes nutraceuticals.

3. Food Safety and Standards Authority of India (FSSAI) has
notified standards of fortification for milk, edible oil, wheat,
sugar and salt.

Select the correct answer using the code given below:

(a) 1 only

(b) 1 and 2 only

(c) 1 and 3 only

(d1,2and 3

Consider the following statements:

1. Priority Sector Lending is a sector important to the economy
as decided by the government and RBI.

2. Priority sector lending norms are also applicable to foreign
banks.

‘Which of the above Statement(s) is/are correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) None of the above

Consider the following statements:

1. N.K Singh's committee was instrumental in banking sector
reforms in 1998 which suggested changes in CRR and SLR.

2. Mission Indradhanush was launched in 2021 to revamp the
public sector banks in India.

‘Which of the above statement(s) is/are incorrect?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) None of the above

With reference to the economic condition of a country, which
among the following is/are likely to be benefited from inflation?
1. Creditors

2. Debtors

3. Bond-holders

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

Q72.

Q73.

Q74.

Q75.

(c) 1 and 3 only
(d) 2 and 3 only

Consider the following statements:

1. Wholesale Price Index (WPI) captures the price changes of
goods and services at the point of bulk transactions.

2. Producer Price Index (PPI) has been used in India to
determine the average change in prices received by the
producer.

3. Weights of items in the Consumer Price Index (CPI) are
derived from Consumer Expenditure Surveys.

Which of the statements given above is/are correct?

(a) 1 and 3 only

(b) 2 only

(c) 1 and 2 only

(d) 3 only

Which of the following statement related to economic recovery

is not correct?

(a) A K-shaped recovery occurs when, following a recession,
different parts of the economy recover at different rates, times,
or magnitudes.

(b) A Z-shaped recovery presents a scenario in which the
economy quickly rises after an economic crash.

(c) In W-shaped recovery, economic growth falls and rises, but
falls again before recovering.

(d) In a U-shaped recovery, the economic growth is quick but it
struggles to sustain the growth after a quick recovery.

Consider the following statements:

1. Business cycles consist of recurrent and periodic alternating
phases of expansions and contractions in the economy.

2. Business cycles are synchronic and international in character.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following factors contribute to “Stagflation”?
1. High Prices 2. High spending

3. Low Economic growth 4. Low unemployment
Select the correct answer using the code given below:

(a) 1, 2 and 3 only

(b) 1 and 3 only

(c) 2, 3 and 4 only

(d)1,2,3and 4

Q76. With reference to Union Budget 2023-24, which of the following

Q77.

are listed under the seven priorities guiding towards Amrit Kaal?
1. Green growth

2. Youth power

3. Infrastructure and investment

4. Sustainable cities and communities

5. Financial sector

Select the correct answer using the code given below:
(@) 1, 2, 3 and 5 only

(b) 2, 3, 4 and 5 only

(c) 1,2, 3 and 4 only

(d1,2,3,4and 5

Consider the following statements in the context of Union Budget

2023-24:

1. The Sickle Cell Anaemia Mission will have an objective to
eliminate it by 2030.

2. Unity malls will be set up to promote unity among people
from various religions.

3. Denatured ethyl alcohol and compounded rubber have been
exempted from basic customs duty.

‘Which of the statements given above is/are not correct?

(a) 1 and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d)1,2and 3
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66.

67.

68.

69.

70.

71.

YR afiases Yead & deof # fAmfaf@d syl w R fifs:

1. 399 uran T foh ki R gdf sifaai & @l et g | g
IR & Afe™h &1 YT TR FaT8, TeTs 3R mad- & Ster
o

2. IIIT SATETETE o LMerehdiel = UgdT YRR S Tead s=aT|

IR U U el & @ i a1/a Tdl 8/8?
(a) e 1 (b) e 2
(c) 18R 2 &t (d)Tat1sikRa82

g fufd Ae dsor Wisq (CDSCO) & dedf # fmfafad

YA R AR &

1. CDSCO zarsif &l M 3fR Hopdt 37, fFerferet oteror st ofiR
Zar3fl & oIy Oeh 9 @A & fog SeR &1

2. CDSCO =u fament & 4y dged ®U & & SR
IaTal Sfe Steft Ao qarstt i e fasty Sftrat & aeda 3
& fog Ser 81

IR U U el & @ i a1/a Tdl 8/8?
(a) e 1 (b) e 2
(c) 1 3R 2 &t (d)Tat1sikRa82

IRd # e & HIfEfthche & dgdf #, F=fofea d @ o9 w/d

HY Tel 8/8?

1. FIfERdRM MR W WY ST are s J ferfae ik @fs
Siest AT uar g1

2. iféfthdhe a1 oref & GeH Uiveh dcd e &ed o folg oo &
AT ST ater uerd e ggrgfedhed e &1

3. YR W {Rem SR AMe Wifdekur (FSSAI) 3 g,
at srfdgfad frar 81

12 g 7T e o1 T R el R A

(a) Shaet 1 (b) Faet 1 3R 2

(c) Fhaet 1 3R 3 (d) 1,293

fA=fafea Fua R AR &

1. UTAfHSRdT UTe &5 IUR SfeHaw & ol Ten Agaqut & g Sl
for IR 3R RBI gRT 99 fovam mam 81

2. UTIHGT UT & IUR AMEs faeeft denl iR +ft A 81 81

IR & G I I1/9 YT Tel 8/8?

(a) Thae 1

(b) dheret 2

(c) 18R 2t

(d) 378 @ i3 oft 781

f=fafea Fuai R AR &

1. NK &g & afafa 4 1998 # ST & & gurT # Agayqof gffer
o118 off 5197 CRR 3R SLR # sr&etta a1 ggma fean ol

2. ¥Rd # GidSich & & Jenl hl GASiifad dedt & fog 2021 &
A gy S fohar ma i

Wi | § T I1/8 e Ted 8/8?

(a) Thae 1

(b) et 2

(c) 18R 23

(d) 37 @ i off 7

foreht der <t smfefen AT & Teof , Fafafea 7 @ fond geehifa @
AT g1 Y draT 8/87

1. IR 2. 31ER

3. dYUF YReh

2 g 7T e o1 T R el IR gF:

(a) Shaet 1 (b) e 2

(c) Shaet 1 3R 3 (d) dhaer 2 3R 3

72.

73.

74.

75.

76.

77.

frfafea sl &R R &

1. Ui g gaehich (WPI) Uics @-e & foig o= axgant ok Sarsit
& Teu uRad ot qufar 81

2. fA#far grr urd hiwal 7 sigd uRads @l RaiRa @ & fag
WRd # AATAT Jeg areaich (PPI) a1 SuaiT fohar mam 81

3. IuwledT oI gakhich (CPI) # a&gsif o1 ¥R Iuwlear &g
Gf&ToT 8 UT BT 81

IR U U Al A @ i 91/ 9l &/8?
(a) Fhaer 1 3R 3 (b) hae 2
(c) dhaeT 1 3R 2 (d) daaT 3

Jnfefer ger @ Tefdq Fafafed & @ a9 a1 s 98t 78l &2

(a) ek K-3MTehR ht Repasl aa gidt &, Sia H#e) & dTe, 3refagaw &
fafa R srerT-sren <<, gag a1 ufamr & i gt oI &1

(b) Z-3TThR i Repadt Tap T URGT Ugd it & fSas anfefen
gHeAT & aTG Srfegaw ISt & SR Iod B

(c) W-3mepR &t Renat 8, snifefer faerra fikar & ok sear &, afe
Sich g T Ugat foR @ AR ST 31

(d) U-3TehR i Repat &, a1ffes freprg asft § giar § «ifee ag asft
g Repat & a1€ fRIepTg vt 9914 3@+ & g gu et g1

f=fafEa sl | faer &

1. AUR Ik # fegaen # AR ok dgaa & smada ok
3Tafde denfeder TRUT gid 8l

2. AMUR 9sh AT SR SHARTERT UG & gid 81

IR Ry T4 Syl & & i 91/8 98 2/8?
(a) e 1 (b) &aet 2
(€)1 3R 2 a1 (d)Tar 1382

fAefafad & @ o 91 hRe "RITE" | Aie 41 8?
1. I hEd 2. 3ifdes =g T

3. &Y i e 4. T RIS

12 g 7T e o1 v AR Tl IR A

(a) haar 1,2 3R 3

(b) haat 1 3R 3

(c) Fa<t 2, 3 3R 4

(d)1,2,33R4

HEN Suie 2023-24 & deof #, Fmfafea § @ o oma o &
f&em & FET ara mruffedrst & dgd eteg 8?2

1. gRka g 2. gar afewy

3. gAardl orar SR fAder 4, gad UeR 3R THE™

5. fa<i &=

=2 g 71T e o1 v AR Tl IR gA

(@) haet 1,2, 3 3R 5

(b)haer 2, 3,4 3R 5

() Faer 1, 2,33k 4

(d) 1,2, 3 43R5

FHr Foie 2023-24 & Geof & R=fafed sl R AR &9

1. Qe 1 Thiffar A @1 384 2030 Tk 59 W AT gHTI

2. fafera et & ol & offgr ardT it agrar &3 & forg gfAd At
iU fohg STdT |

3. fapa Ui sieentgat ofiR fafa war &t giandy e e @ ge
ARIEE]

IR U U pet & @ hiF a1/ T8l T8l &/8?
(@) ThaeT 1 3fR 2 (b) haet 2 3R 3
(c) haar 133 (d)1,23R3
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Q78.

Q79.

Q80.

Q8.

Q82.

Q83.

With reference to the Economic Survey 2022-23, which of the
following commodities had their prices at the highest level
comparatively due to the Russia-Ukraine conflict?

1. Food 2. Coal

3. Base Metals 4. Fertilizers

5. Crude oil 6. Natural Gas

Select the correct answer using the code given below:

(a) 2, 4, 5 and 6 only

(b) 4 and 6 only

(c) 1, 3 and 4 only

(d) 2, 3, 5 and 6 only

Consider the following statements:

Green Revolution in India has

1. led to cropping pattern distortions and monoculture practices.

2. reduced the regional disparity among farmers.

‘Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

‘Which of the following poses a challenge to agriculture in India?

1. Dependence on monsoon rains.

2. Cropping patterns.

3. More use of chemicals.

Select the correct answer using the code given below:

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d)1,2and 3

Consider the following Statements

1. The Electoral College of the President consists of the elected
and nominated members of both Houses of Parliament.

2. Electoral College of Vice President consists of only elected
members of the Parliament

3. Both the President and Vice President are elected directly by
the people

‘Which of these statements is/are incorrect?

(a) Only 1

(b) Only 3

(c) 1 & 3 only

d12&3

With reference to the President and Vice President, consider the

following statements

1. A person to be eligible for election as President should be a
citizen of India and have completed 30 years of age.

2. To be eligible for election as Vice President, a person should
qualify for election as a member of the Rajya Sabha and
have completed 35 years of age.

Which of the statements given above is/are correct?

(a) Only 2

(b) Both 1 & 2

(c) Only 1

(d) Neither 1 nor 2

Regarding the term of office of the President and Vice

President, consider the following statements

1. The President holds office for five years and is not eligible
for re-election

2. The Vice President holds office for four years and is eligible
for re-election

3. President can resign from his office at any time by
addressing the resignation letter to the Vice President

Which of the statements given above is/are correct?

(a) 1 &2 only

(b) 2 & 3 only

(c) 3 only

@ 1,2&3

Qs4.

Q85.

Which of the following are the criteria for the ‘Impeachment of

the President of India?

1. The Impeachment charges of the President can be initiated
by either House of Parliament and the charges should be
signed by two-thirds members of the Parliament.

2. The President can be removed from office by a process of
impeachment for ‘Violation of the Constitution.

3. The President has the right to appear and to be represented
in such an investigation

Which of the statements given above is/are correct?

(a) 1 only

(b) 3 only

(c) 1 &2 only

@1,2&3

Consider the following pairs with reference to the power of the
President.

Power of President

Applicability

1. Executive Power

President can send messages to the House
of Parliament with respect to a bill pending
in the Parliament and otherwise,

2. Legislative Power

President can summon or prorogue the
Parliament and dissolve the Lok Sabha

3. Financial Power

Money bills can be introduced in the
Parliament only with the President prior
recommendation

QS6.

Select the correct answer
(a) 1 & 2 only

(b) 2 & 3 only

(c) 1 & 3 only
d1,2&3

Which of the following statement is/are correct?

1. The Constitution confers an extraordinary power with respect
to emergencies from Articles 352 to 360.

2. The expression of executive power is nowhere defined in the
constitution.

3. He has the authority to grant pardons against punishment for
offenses against union law, punishment by a martial court, or
death sentence.

4. International Treaties and agreements that are approved by
the Parliament are negotiated and concluded in the name of
the Prime Minister of India.

Select the correct answer using the code given below.

(a) 1, 2 and 3 only

(b) 2 only

(c) 3 & 4 only

@1,2,3and 4

Q87. Consider the following pairs regarding the Veto Power of the
President:
Vetos Meaning
1. Absolute | Applies when the President decides not to take any
Veto action on the Bill passed by the legislature.

2. Pocket Veto

The President can withhold assent to a Bill passed
by the legislature

‘Which of the above statements is/are correct?
(a) 1 only

(b) 2 only

(c) Both1 &2

(d) Neither 1 nor 2

[ 17j ] MAADHYAM IAS

CALL: 0522-4623578
9911999187

www.maadhyamias.in
Lucknow Center - B-1/18, Sector-H, Puraniya Chauraha,

Near Mahalaxmi Sweets, Aliganj, Lucknow-06024 (U.P.)

Full-Length Test | 16



78. onfdfr wderor 2022-23 & TeH H, FH-Gghd HUY & HRUT

79.

80.

81.

82.

83.

fafafed & & foha axg & Hd gemiered U 8 Isadd @R R oAf?
1. i 2. e

3. 39 e 4. IRH

5. el de 6. UTpfcen 19

12 3 7T e o T R el IR gFU:

(a) haw 2, 4,53R 6

(b) a4 3R 6

(c)Faet 1,3 3R 4

(d)Faet 2,3, 53R 6

ffafed we o R &R

ARd A gRa hifd g3 &

1. Had gl fAgpfadl 8k Aietehedr uansi a1 g foa
2. foramit & YT el sremTar at o faRa

IWR Ry 1y el # T @ 91/ et &/8?
(a) e 1 (b) e 2
(c) 1 3R 2 i (d)Tat1sikas2

frfafea § @ o YR § oY & fog ge gk 82
1. AFYAT aui W R

2. ®ad te|

3. gl o1 Sifdes T

12 g 7T e o1 AT aR el IR A

(a) dhaet 1 3R 2 (b) Shaet 1 3R 3
(c) a2 3R 3 (d) 1,233
fafafed pue R AR &R

1. Igufa & Aot dsa d G & i1 Gedl & RafRa ok
T 9@ gid &

2. Iwreufa & Mafaed dea & dae 99g & FHaffid e gid €1

3. gufd ofk IwRrgafd AT & | gRT WY g Sd &

T8 @ &F 1/ U Tod 8/8?

(a) haet 1

(b) haret 3

(c) Shaet 1 3R 3

(dy123fR3

Igufd ofk IWEUld & e &, FEfafEa sl ) AR &

1. TgUfd & ®UH TG S folg UTH Sferd YR ehl ARTIRS 8HT ATeQ
3R 30 g &Y 3mg GH R e BT

2. Il & ¥4 d 19 & o @i g1 & oy, gep afaT ot
T & TG o & | TG o [oIQ g1 UTed et a1iey
3fR 35 g &t oy o e o =R

IR u g syt A @ i 91/a Tl 8/8?

(a) Faer 2

(b) 1 3R 2 &=t

(c) daet 1

(dyFat1siRagr2

AUfd 3R IWRTEUTS & hrfented o Haiy # Ffafed wuet R

faR &

1. gufa ui= a9 & g ue 4RoT &Har ¢ 3R gAfHate & gt T8
gl e

2. IWFUR IR T & foIg Ug 4RO e SR R @ g &
ferg or glar &

3. EYfy forddt oft 9T SIRIgUfa ot @ U= AR TR SEie
Y AT & Gopat &

IR U Ty hyl F @ T ar/d TEt &/
(a) dhaer 1 3R 2 (b) et 2 3R 3
(c) a3 (d)1,23R3

84.

85.

fefafaa 4 @ a9 @ 'vRa & Igula & Fef¥aeT & e ames

8?

1. Tgafd & AGIFHANT & SIRIUT ot T o fhdt off T grT &
fona ST Gera & 3R IIRITT IR T4e & 1-fAgE gl grr
gweR fohy o =Tnfeul

2. 'GfaemH & Sooiaq’ & forg pufa st AgifeanT fi ufchar g
U g e ST 9ahdT 8l

3. Igufa ot Ot ST A Suflda gF ofik ufaffda & @
3fAPR B,

IR U U syt A @ i a1/a g &/87?

(a) Shaet 1

(b) Fhae 3

(c) Thaar 1 3R 2

(d)y1,23R3

EUfd el Afy & Haof # Fefafaa gml R f[JeR fifsg)

Treufa & afaa

wateaar (fFse/fAfgard)

1. TrfehTROf rfery

Tpufy Tg | dfdd fohel s & Ty & gag
& o I G A bl &

2. derieen feRy

AFUf TEE e ATgd IT GATTHH R Hehll &
3R ARG hl ¥ he JehdT &

3. fa=hig sy

¢ fAdges chaet pufd &t gd s & & T9e
7 937 fohg T gend &

86.

87.

TET IR T T <he
(a) Thae 1 3R 2
(c) daeT 1 3R 3

(b) haer 2 3R 3
(d)1,23k3

fafefea 3§ @ @ 91/9 s I8t 8/8?

1. dfayr smurd fRAf & deiy 7 srgede 352 T 360 Teh S-[TURT
21feRT UgT HRar g1

2. riTfeie ey i rffeafary ot Gidar & sgl off gRenfa 78t
forar M 81

3. 3G UTY 99 G & fGerh SoRert o forg g, ansfe sle gr
o1, I7 Hid &l GolT o (& &/ 27 o1 SR Bl

4. SR TRt 3R THeia o T9E gRT SRR &, YTRa & Ja
it & A R Ira<iia stk 9uF 8ld 81

2 g 1Y e o1 T AR Tl IR gAY

(@) haar 1,2 3R 3 (b) a2

(c) haa 3 3R 4 (d)y1,2,33k4

AFafd & diet reR & dey J FefeRed gl = fdar &

fagerfasr aref

Icfaes diet

g AN 8T & 519 Agafd el grr uika dasw
TR S hRATS ] herd T ThaelT hedT &

Gfehe dftet

eafa femfie grT uRd fidae wR st wigfa dw
qhdT g

IR Al & @ SiH-a1/3 9l 8/8?
(a) haet 1

(b) haet 2

(c) 1 3R 2t

(d)yaat13RRadr2
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Q88. In the context of the Veto Power of the President, which of the
following statements is correct?
1. President has a Suspensive Veto in case of a Money Bill.
2. President has no Veto Power in respect of the Constitutional
Amendment Bill.
Select the correct answer using the code given below.
(a) 1only (b) 2 only
(c) Both1 &2 (d) Neither 1 nor 2

Q89. Which of the following statements is/are Correct?
1. An Ordinance can be issued only on those subjects on which
Parliament cannot make law.
2. The Fundamental rights of citizens guaranteed by the
Constitution of India can be crossed out through the

Ordinance.
Select the correct answer using the code below.
(a) 1 only (b) 2 only

(c) Both1 &2 (d) Neither 1 nor 2
Q90. Which of the following statement is correct?

(a) The American Vice-President succeeds to the presidency
when it falls vacant and remains President for the unexpired
term of his predecessor.

(b) In the case of an Indian Vice-President, when the office of the
President becomes vacant for the remaining term, the Indian
Vice-President assumes the office.

(c) Some academics refer to American Vice President as "His
Superfluous Highness."

(d) The Constitution of India has fixed emoluments for the Vice
President in that capacity.

Q91. Consider the following statements with respect to India:
1. Actual distance measured from the north to south extremity
of India is 32144 km.
2. Standard Meridian passes through 82°30' E longitude.
‘Which of the above Statement(s) is/are Correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

Q92. Consider the following Statements:

1. Kashmir Himalayas are famous for Karewa formations and
the Cultivation of Zafran.

2. Bugyals are winter grasslands in the higher reaches of the
Himalayas.

3. Dun formations are a prominent feature in the Northern
Himalayas.
‘Which of the above statement(s) is/are Correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Q93. Which of the following states is Known as the Molassis basin?
(a) Nagaland
(b) Manipur
(c) Mizoram
(d) Tripura

Q94. Consider the following statement/s with respect to the Northern

plains:

1. Bhabar is a narrow belt where rivers and streams deposit
heavy materials of rock and at times disappear in this zone.

2. South of the Tarai belt is an alluvial belt consisting of old and
new alluvial deposits known as khadar and bhangar
respectively.

3. Sand bars, meanders, oxbow lakes and braided channels are
the characteristic features of the Northern plains.

Which of the above statements is/are correct?

(a) 1 and 2 only

(b) 1 and 3 only

Q95.

Q9.

Q97.

Q98.

(c) 2 and 3 only
(d) 1,2and 3

Consider the following statements:

1. Rajmabhal hills in the east and cardamom hills in the South
constitute the outer extent of the Peninsular plateau.

2. Doddabetta hills on the Nilgiri hills is the highest peak of the
peninsular plateau.

3. The Bhima fault is important because of its recurrent seismic
activities.

Which of the above statement(s) is/are Correct?

(a) 1 and 3 only

(b) 2 only

(c) 3 only

(d1,2and 3

Consider the following statements:

1. The Western Ghats and the Eastern Ghats meet at Nilgiri
Hills.

2. Kunchikal waterfall is the highest waterfall in India.

3. The famous Sabarimala temple is situated in the Periyar tiger
reserve through which the pamba river passes.

‘Which of the above statement(s) is/are Correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2and 3

Consider the following statements

Northeastern plateau:

1. Meghalaya plateau despite being an extension of the Main
peninsular plateau is devoid of mineral resources like
uranium, iron ore, coal etc.

2. As the Northeastern plateau area receives maximum rainfall
from the South West monsoon, the Meghalaya plateau has a
highly eroded Surface.

Which of the above Statement(s) is/are Correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) None of the above

with respect to the

Consider the following statements with respect to the Indian

Desert:

1. In the Thar region, the shifting sand dunes are locally known
as Dhaya.

2. Thar desert is a monsoon-driven desert where wind erosion is
a major problem during summer.

3. Thar desert spread across the states of Rajasthan, Gujarat,
Punjab and Haryana.

Which of the above statement(s) is/are Correct?

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d) All of the above
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88.

89.

90.

91.

92.

93.

94.

Teufa & didt urer & eof & fRfafaa & @ o9 ar du= g 82
1. oA e & ama § TEufa & o Rdadart dia gar &1

2. dfder detem e & dey & apufa & um diet afer 78 g
12 g 7T e o T AR Tl IR R

(a) Shaet 1

(b) haet 2

(c) 1 3R 2 gt

(dysat1aRTE2

fAafafea & @ & 91/ s g8 g/8?

1. IR had Il ATl R TR R ST Gepat & 99 R O9g
LA TG ST Tl gl

2. Rd & WRyM gRT TRéAGd ArRal & Hifce sifdert @t
IR & ATeH T YAT T ST GevaT &1

2 g 71 e o1 T R el IR gAY

(a) Shaet 1

(b) haet 2

(c) 1 3R 2@t

(dysat1aRTE2

faffea & 9 o 91 su 98t &2

(a) MR IwrEyfa Agufy ue & AT Tha giar & 5e I8 Rad &t
ST & SR U gaad o I hiiehlel oh folq YT &1
REGIR]

(b) T YR IRTEUfa & A #, Sie gufa o1 ey Ay safey
& forq @relt gf Sira €, @t wRdia SwRTEgufa shrafera Ugor e g1

(c) 3o fenfaet 3 smREr ImEufa At "fes BRUE gEA4g" &
¥ § Tefdq fohar gl

(d) 9Ra & dfgem 3 39 &mar & Iwmgufa & fog ot RufRa
H gl

Rd & ey 7 FefafEd sl o R &<

1. 9Rd & IR Y &fA07 B8R dop A1t 71 A g 32144 fhet
2l

2. A IR 82°30" g 3RMeR ¥ gla Toid! 81

SR | & i I1/8 Y T8 /8?2

(a) haet 1

(b) haet 2

(c) 1 3R 2 gt

(dyFat1aiRaE2

fAefafaa wu R AR &

1. @R R war Gel oik SR &t @t & fow ufig
gl

2. O fRATerd & & 3erenl | Al & °19 & A g1

3. I fgHTera # g widE o v fasivar g1

IR A @ i 1/ hu 9l /87

(a) 1 3R 2 thaat

(b) 2 3R 3 thaat

(c) haar 1 3R 3

(d)1,23R3

fAefafaa 3 @ frg g o AR 38 & w3 S S 82
(a) TS

(b) AfoTgR

(c) fastRe

(d) Brgr

I Al o ey # FEfafed eyl ) fer &
1. ¥R Qoh Tohd) ugt & orel et ok yri¢ Tgm Y ot grht
ST Rl & SR S IR 39 &9 7 faqge gt St &1

95.

96.

97.

98.

2. qE S & SfANT F Ueh Siellg e & forad [RM iR Y STl
ST gl & o8 shHsn: @WTeR 3R YR & & & STHT1 91T 81

3. R g, fogd, MR e ok g I It AT ot fasiwdr
gl

SRIad Al & T ohi9-a1/T T8l /872

(a) 1 3R 2 Thaat

(b) haa 1 3R 3

(c) 2 3R 3 Thaet

(dy1,2eR3

f=fafed v R AR &

1. gd & womed &t ugifeat ofik afdor # gt it ueifEat
TRE TSR 6 gt dAT s &

2. A veifeat o Sgreter vgifeat uragidia uor & qe@ St
T g

3. o o<1 T Srraden yehdg fafafdat & sRoT Agayuf g1

IWRIad & T i 1/ hy 981 §/87?

(a) haar 1 3R 3

(b) et 2

(c) Shaat 3

(dy1,2sR3

f=fefaa Fu = AR &%

1. ufg are ok gdt a1e Hiafiik 6 veifeat § fAed &1

2. HRIHe STAYYTd HR I Ga9 ST STAYITT 81

3. g geiaTer HieR iRAR TR Red § @9 & ogss arem @
T A ToRe B

IWRIad § T i 1/ Ry T8l 8/8?

(@) 1 3R 2 dhaa

(b) 2 3R 3 Thaa

(c) haa 1 3R 3

(dy1,2eMR3

STRYT TR & Hey 7 fAmfofad weel = foar &

1. 9= UEgUg USR @l AR g & dlase AUerd &l USR
QATH, e 3ra%eh, shiger 3nfe @is dareH 4 fed 8

2. dfch YaiR USRI & afior ufgs Ay & fderdd aui
T §, HUTeRd USR &l §ag i Ried g1

SWiad & @ & 91/ &y 98 /82

(a) dhae 1

(b) dhaet 2

(c) 18R 2 gt

(d) 99 & i o 78T

YR Aea & ddy # Ffofed syl = AR &6

1. UR &7 #, 9&ad W & il ol R &G F 44T & A1 & FHT
ST 8

2. IR HT AF AHYA Y T aTell A & Sigh MHat & M
&1 I Sheld U dot IHEIT &1

3. YR H AR JSRAM, ToRMd, UoTea R gRaron wsat # e
gl

SWiad # § & 91/ FHUT T8t /8?2

(a) 1 3R 2 dhaat

(b) Shaet 1 3R 3

(c) 2 3R 3 dhaat

(d) SR & aft
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Q99. Consider the following statements with respect to Coastal plains:

1. Western coastal plains are examples of Submerged coastal

plains whereas Eastern coastal plains are examples of
emergent coastal plains.

2. Western coastal plains are broader in the middle and narrow
in the North and south whereas Eastern coastal plains are
overall broader in general compared to western coastal plains.

3. ’Kayals' are the distinguished features of the Malabar coast.

‘Which of the above statement(s) is/are Incorrect?

(a) 1 and 3 only

(b) 2 only

(c) 3 only

(d)1,2and 3

Q100. Consider the following Statement:
1. Baratang Island is the only known example of a mud volcano
in India, called locally “jalki”.
2. Neil Island has been named Netaji Subhash Chandra Bose
Island recently.
‘Which of  the above Statement(s) is/are Correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) None of the above
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99. ady el & day A fRmfafed eyl R AR
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2. ufge 98 fem e | 92 iR IR ok &f&or & gam € Safh
T a& fe ufgHt 38 a1 &l g1 § 9T ¥ § I 5 |

3. 'S’ ATAER de & ffe fagtaang &1

I & § i I1/8 &y Tod 8/87?

(a) haar 1 3R 3

(b) Thaet 2

(c) Shaet 3

(dy1,23R3

100. =TT FaA R AR &R
1. IRTET g 9Rd | At & Saremi! S YA AT IaTe0T 3,
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Since-2018
Qmaadhyamias @ @ © © O ©

- .
uag?m - 9/

HITHHA IAS

‘way to achieve your dream’

et & srgardt Rietes, 3m@ 3Mus eER TS # ..

UPPCS MAINS TEST SERIES

® Model Answer (in Both Hindi & English Medium)

¢ Evaluation (On Personal Level) JUNE
42023

¢ Discussion of Every Paper
¢ Online & Offline

9911999187

Timing : 09:00 AM to 12:00 PM
(Flexible Date & Time)

*0 SUNDAY
100 5

MAADHYAM IAS

deh THBTAZRTT UTe

Timing- 03:00pm-05:00pm

iR et

JUST AFTER 12™
12 ft B T 12t g FES=A B fae
IAS, IPS, PCS

Ez==r> 9911999187

CALL: 0522-4623578
9911999187

Cp o L

www.maadhyamias.in
Lucknow Center - B-1/18, Sector-H, Puraniya Chauraha,
Near Mahalaxmi Sweets, Aliganj, Lucknow-06024 (U.P.)

Full-Length Test | 20



